Name Date

Is the Answer Reasonable?
J Self-Check: Question 13

13. Jessie solved 26 X 75 and then found an estimate in her head to check that
her answer was reasonable.

4 )
e N\ 20 X 70 = 1400
70 5 30 X 80 = 2400
N The answer will
;’ 140 be between
o 420 1400 and 2400.
20 20 X 70 = 1400 I 100
3 + 30
-
6 6 X 70 = 420 30 answer

o J

A. Did Jessie use her estimate to check her answer?
Why do you think that?

B. Do you agree with Jessie’s answer? Why or why not?

C. Choose your own strategy and solve 26 X 75.

D. Is your answer to Question 12C reasonable? How do you know?

Use the Self-Check Question and the menu to choose practice with
estimating products.
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make sense.
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